Helmet, Flight

CLEANING
Clean the components of the SPH-5 helmet assembly as follows:

Helmet shell and visor assembly (including visors, housing, track, spacers. and lock): Wipe with clean, soft cloth
dampened with mild soap solution; rinse with clean water and allow to air dry.

Earcup cords, retention assembly: Wipe with damp cloth; allow to air dry thoroughly.
TPL cloth cover: Machine wash (gentle cycle) or hand wash with warm water and soap; allow to air dry.

TPL plastic layers: Hand wash with soap and water; allow to air dry.

REPLACEMENT PROCEDURE 1: ENERGY-ABSORBING LINER AND TPL

1. Squeezing the sides of the TPL together to clear the earcups as shown in Figure 1, remove the TPL from the helmet.
2. Remove at least one earcup from the retention assembly as in Replacement Procedure 3, Steps 1-3 (Page E-11).

3. Insert a flat-tip screwdriver or a tongue depressor between the energy-absorbing liner and the helmet shell in the front
and rear and disengage the hook-and-pile fasteners holding the liner in place.

4. Apply slight pressure to the energy-absorbing liner from the rear and slide it out through the front of the helmet.

NOTE: Before you install the replacement energy-absorbing liner, ensure that its hook-fastener tabs are in
place in the front and rear.

5. Install the replacement energy-absorbing liner by inserting the rear of the liner into the front of the helmet and
applying slight pressure to position the liner in the helmet. Ensure that the hook-and-pile fasteners are engaged.

6. Reinstall the earcup(s) as in Replacement Procedure 3, Steps 10 - 11 (Page E-11 and 12).

7. Squeeze the sides of the TPL together to clear the earcups and attach the TPL to the energy-absorbing liner in the
helmet. Ensure that the label and holes in the plastic layers (as well as the double leg of the “Y™ seam on the cloth
cover) are positioned toward the front of the helmet. Center the TPL in the energy-absorbing liner. The TPL should
protrude approximately _” past the front edge of the energy-absorbing liner.

8. Recheck the helmet fit.

REPLACEMENT PROCEDURE 2: RETENTION ASSEMBLY

1. Squeeze the sides of the TPL together and remove it from the helmet.
2. Remove the earcups from the retention assembly as in Replacement Procedure 3, Steps 1-3 (Page E-11).

3. Remove the energy-absorbing liner as follows as in Replacement Procedure 1, Steps 3 and 4 (Page E-9).

R9800362

Figure 12. Removing/Replacing TPL

197



Appendix E

NOTES

4. Remove the six screws (three each side), washers, and posts attaching the retention assembly to the helmet shell and

* Prior to removing attaching hardware from retention straps note which strap holes are used
for attachment. These same holes must be used when installing new retention assembly.

* The front and center straps on both sides share attaching hardware with a helmet shell cross
strap. The left rear strap shares hardware with the communications cord strain relief plate.
When removing hardware from any of these points, note position and order of attachment to

ensure correct installation (see Figure 13).

remove the retention assembly from the helmet.

5. Align the straps of the replacement retention assembly within the helmet and install the retention assembly using
hardware removed in Step 3. Applying Weldwood glue #281 to the first two threads of each screw, insert the screws

through holes previously used. Tighten the screws securely, but do not overtighten.

6. Reinstall the energy-absorbing liner.

7. Reinstall the TPL.

8. Reinstall the earcups as in Replacement Procedure 3, Steps 10 - 11.
9. Recheck the helmet fit.

198

CROSS
_STRAP T/“E”"ET
i WASHER
STR-AP \ \'
POST—§- L}{.g_ SCREW

f

STRAMN HELMET
SHELL (REF.)

RETENT'OQ\\ .‘/(.- WASHER
POST _t:j {,‘, SCREW

! COMM.

R9800363

Figure 13. Retention Assembly Attachment



Helmet, Flight

REPLACEMENT PROCEDURE 3: REPLACING EARCUPS AND EARPHONES

NOTE: Replacement of the earphone does not require earcup removal. If replacing the earphone only, perform
Steps 4, 5,7, 8 and 9.

- Pull the earcup away from the cross straps; pull retention cloth back toward the shell to expose the raised tabs on the

earcup edge.

- Insert a small, flat-tip screwdriver between the earcup and the retention assembly as shown in Figure 14.

- Work the screwdriver carefully around the edge of the earcup and lift the retention cloth over the earcup tabs until the

earcup is free of the cloth.

NOTE: You may rotate the earcup slightly within the retention assembly to allow room for the screwdriver
between the earcup and the retention assembly.

. Carefully remove the earphone holder and the earphone from the earcup. (See Figure 15.)

5. Remove the earphone from the earphone holder. Remove the cord leads from the earphone using a jeweler’s screw-

driver or a hex wrench as required.

6. Remove the communications cord and the grommet from the earcup.

7. Insert the communications cord and the grommet into the replacement earcup. Attach the communications cord leads

9.

to the replacement earphone using a jeweler’s screwdriver or a hex key as required.

- Insert the earphone into the earphone holder, and insert both into the replacement earcup, ensuring the earphone holes

are positioned toward the ear.

Install the earseal on the earcup (if not already installed) and the electrical tape over the earseal flange.

10. Position the earcup into the retention assembly so that the retention assembly is between raised tabs on earcup.

EARcup  PADS

FILLER
EARPHONE PAD

R9800364 RPHON

OLDER R9800365

Figure 14. Earcup Removal Figure 15. Earcup Assembly

199



Appendix E

11. Carefully insert screwdriver from outside the retention assembly as shown in Figure 16, and lift the retention cloth
over the earcup tabs.

12. Repeat the procedure for the other earcup as required.
13. Check earphone operation
14. Recheck the helmet fit.

REPLACEMENT PROCEDURE 4: MICROPHONE/ BOOM/CORD ASSEMBLY

NOTE: The microphone, microphone cord, boom, and swivel (Figure 17) are replaced as
one assembly in this procedure.

1. Unplug the microphone cord from the connector at the rear of the helmet.

2. Remove the center screw attaching the boom swivel to the helmet; remove the swivel knob, plastic spacer, micro-
phone, boom, and cord.

3. Attach the replacement microphone, boom, and swivel assembly to the helmet with the center screw, and hand-tighten
the swivel knob until secure.

4. Insert the microphone cord connector into the plug at the rear of the helmet.

REPLACEMENT PROCEDURE 5: COMMUNICATIONS CORD

1. Unplug the microphone cord from the connector at the rear of the helmet.

2. Cut the shrink tubing away from the connector using a razor blade or a knife .

3. Remove the connector and the two screws securing the bracket and the mounting plate to the helmet shell.
4

- Remove the TPL and slide the energy-absorbing liner out as in Replacement Procedure 1, Steps 1, 3, and 4. This will
provide access to the rear retention strap and the strain relief plate.

5. Remove the screw, washer, and post securing the rear retention strap and the cord strain relief plate from the left rear
of the helmet (see Figure 18).

6. Carefully remove the earphone holders from the earcups and the earphones from the earphone holders. Remove the
cord leads from the earphones using a jeweler’s screwdriver or a hex wrench. Remove the cord from the earcups.

7. Remove the grommet and the communications cord from the helmet shell.
8. Insert the replacement cord through the grommet hole in the helmet shell and attach the grommet to the helmet shell.

9. Apply Weldwood glue #281 or equivalent to the first two threads of the screw removed in Step 5. Secure the cord in
the strain relief plate and attach the strain relief plate and the retention strap to the helmet shell using this screw and
the associated washer and post.

10. Feed the cord through the earcups and insert the grommet into the earcup.

R9800366

Figure 16. Earcup Replacement
200



Helmet, Flight

MICROPHONE CORD

MICROPHONE goom CENTER SCREW 9800368

R9800367

Figure 17. Microphone Assembly Figure 18. Communications Cord and Hardware

L1. Attach the cord leads to the earphone, insert the earphone into the earphone holder, and insert both into the earcup.
Ensure that the earphone holes point toward the ear.

12. Apply Weldwood glue #281 or equivalent to the first two threads of each screw removed in Step 3. Secure the
connector bracket and the mounting plate to the helmet shell using these screws, and insert the connector into the
bracket.

13. Install the shrink tubing on the connector as follows:
a. Cuta 3/4" - 1" length of shrink tubing.
b. Slide the tubing over the connector and the bracket.
c. Heat the tubing using a heat gun. Be careful not to overheat any one area.
d. Remove the heat as the tubing shrinks to the shape of the connector

e. Carefully trim the ends of the tubing as flush as possible with the ends of the connector and the bracket using a
sharp knife or small scissors.

14. Install the energy-absorbing liner as in Replacement Procedure 1, Step 5 (Page 13). Ensure that the communications
cord leads are routed under the liner.

15. Reinstall the TPL as in Replacement Procedure 1, Step 7.
16. Insert the microphone cord plug into the connector.

17. Check microphone and earphone operation.

18. Recheck the helmet fit.

REPLACEMENT PROCEDURE 6: VISOR ASSEMBLY

1. Remove the four screws (two on each side) attaching the existing visor assembly to helmet shell.
2. Remove the TPL and the energy-absorbing liner from the helmet as in Replacement Procedure 1, Steps 1, 3, and 4.
3. Remove the two center screws (one on each side) attaching the visor tracks and tapered spacers to the helmet shell.

4. Remove the existing visor posts from the helmet shell.

201



Appendix E

202

NOTES - Be sure to install the spacers and tracks on the side of the housing (right or left) for which
they were configured. When installed correctly, these parts will curve toward the center of the
visor housing (see Figure 19).

* Spacers, track, screws, and posts are shown only on the left side of the visor housing in
Figure 19. A similar configuration exists for the right side.

* Before installing screws, apply Weldwood glue #281 or equivalent to the first two threads of each screw.

5. Insert a 5-40 x 5/16 bind-head screw through the center hole of the right-side (as worn) visor track and the center hole
of the tapered spacer.

6. From the inside of the helmet shell, insert a visor post upward through each of the three visor track holes in the helmet
shell.

7. Position the screw, track, and spacer over the right side of the helmet and tighten the screw into the center post.

NOTE: Itis recommended that you glue all six visor posts into the helmet shell with five-minute
epoxy to prevent the posts from turning within the shell.

8. Repeat Steps 5, 6, and 7 for the left side (as worn).

NOTE: Before installing screws, apply Weldwood glue #281 or equivalent to the first two threads of
each screw.

9. On the right side (as worn) of the visor housing, insert a 5-40 x 1/2 bind-head screw through the rear track hole and a

5-40 x 5/8 bind-head screw through the front track hole. Place the right-hand top track spacer on the screws and
against the underside of the visor housing.

10. Repeat Step 9 for the left side (as worn) of the visor housing.

VISOR LOCK \ﬁb
WASHER —

540 x 1/2 SCREW
#— (ONE ON EACH SIDE)

5-40 X 5/8 SCREW
{ONE ON EACH SIDE)

TOP TRACK SPACER
[ONE ON EACH SIDE)

7" 540 X 5/16 SCREW
'/~ IONE ON EACH SIDE)
. / VISOR TRACK

VISOR

POSTS - INSIDE HELMET
{THREE ON EACH SIDE}

R9800369

Figure 19. Visor Assembly (Exploded View)



Helmet, Flight

11. Holding the spacers against the housing, position the visor housing over the tracks and spacers installed in Steps 5-8.
Tighten the screws into the front and rear visor posts.

12. Slide the visor into the tracks. Insert the visor key through the housing slot and into the cutout in the visor; push the
key down and rotate it a quarter turn counterclockwise to lock it into place. Place the washer and the visor lock over
the visor key; tighten the visor lock. Install and tighten the center screw of the visor lock. (The center screw has a left-
hand thread.)

13. Test the visor operation by using the visor lock. If the visor does not move freely, loosen the screws, hold the visor
housing at the sides, and move the housing side to side as required to achieve smooth operation of the visor.
Re-tighten the screws.

14. Reinstall the energy-absorbing liner as in Replacement Procedure 1, Step 5.
15. Reinstall the TPL as in Replacement Procedure 1, Step 7.
16. Check helmet fit.

OTHER VISOR STYLES AVAILABLE
Other SPH helmets are available in a variety of visor styles as shown in Figure 20:

« SPH-5 with dual visor assembly
« SPH-5 with direct-mount ANVIS dual visor assembly
« SPH-5 with quick-disconnect ANVIS dual visor assembly

Contact GENTEX Corporation for more information.

ANVIS DIRECT-MOUNT ANVIS QUICK-DISCONNECT
DUAL VISOR ASSEMBLY DUAL VISOR ASSEMBLY

R9800370

Figure 20. SPH-5 Visor Kits

203



Appendix E

204

ILLUSTRATED PARTS BREAKDOWN

This illustrated parts breakdown lists the most common repair parts for support of the SPH-5 Helmet. The parts listed are
shown in Figure 21 below and Figure 22 on Page 24. The complete helmet assembly and part numbers are available from
Gentex Corporation, Carbondale, PA., U.S.A., phone 717-282-3550, fax 282-8555. If your helmet configuration differs
or if you need assistance, Call Air Crew Helmet Customer Service.

R9800371

Figure 21. SPH-5 Helmet Assembly



Helmet, Flight

FIGNO. DESCRIPTION QTY. PART NO.
21 SPH-5 Helmet Assembly, Regular 1 REF
SPH-5 Helmet Assembly, X-Large 1 REF
-1 Helmet Shell, White, Regular 1 91D8049-8
Helmet Shell, White, X-Large 1 91D8050-8
-2 Pile Fastener, _” x 17 (Attaches to Item 7) 2 85A7256-20
-3 Cross Strap, Earcup Tension - 67B1732-1
-4 Adapter 4 69A2118
-5 Chafing Pad, Earcup 2 67A1777
-6 Energy-Absorbing Liner, Small 1 90D8014-1
Energy-Absorbing Liner, Regular 1 85D7286-2
Energy-Absorbing Liner, X-Large 1 85D7211-2
-7 Hook Fastener (Attaches to Item 2) 2 90B8021-2
-8 Hook Fastener (Attaches to Item 9) 4 85B7027
-9 TPL, Small 1 85D7087-31
TPL, Regular 1 85D7087-4
TPL, X-Large 1 85D7087-5
-10 Earpad Seal 2 88C7589
-11 Cushion, Earcup Insert 2 83C6573
-12 Filler Pad 2 81B6572-5
— Earcup, Left (Not Shown) 1 85C7135-4
-13 Earcup, Right 1 71B2302
-14 Spacer Pad Kit 1 71B2302
= Electrical Tape (Not Shown) AR¥* 71949-1
-15 Retention Assembly, Black 1 90D8018-2
-16 Washer, Spring 10 76A3443
-17 Screw, 8-32 x _” (Retention) 6 75A3093-9
-18 Post, 1/8” (Rear retention) 1 69A2104-2
-19 Post, 3/16” (Front retention) S 69A2104-3
-20 Screw, 8-32 x 3/16, Black (Cross Strap, Bottom) 4 75A3093-5
-21 Post, 1/16 (Cross Strap, Bottom) 4 69A2104-1
—_ Cord, Wired in Parallel, 257, U-174 CIP (Not Shown) 1 77C3523-1
-22 Microphone, Electret/Boom/Cord Assembly 1 78B4161-2
-23 Earphones, 600-ohm 2 78A3981
-24 Single Visor Assembly (See Fig. 23 for breakdown) 1 76A3257-1
—— Instruction Booklet 1 TP0056

205



Appendix E

FIG NO. DESCRIPTION QTY. PART NO.
22 Single Visor Assembly REF 76A3257-1
-1 Visor Housing, White 1 73D2539

-2 Visor Track, Left-hand, Black 1 61C846-2L
— Visor Track, Right-hand, Black (Not Shown) 1 61C8462R
-3 Tapered Spacer, Black 2 65A1490-1
- Track Spacer, Top, Black 2 65A1555-3
-5 Visor Lock Assembly, Black 1 79C4440-2
-6 Visor Lens, Neutral 1 72C2535

-7 Bind Head Screw, 5-40 x _, Black 2 75A3096-25
-8 Bind Head Screw, 5-40 x 5/8, Black 2 75A3096-33
-9 Bind Head Screw, 5-40 x 5/16, Black 2 75A3096-13
-10 Post 6 69A2094

. Housing

206

R9800372

. Visor Track (one on each side)

. Tapered Spacer (one on each side)

. Top Track Spacer (one on each side)

. Center Screw, Visor Lock, Washer, Visor Key
. Visor

. 5-40 x 1/2 Screw (one on each side)

. 5-40 x 5/8 Screw (one on each side)

0.

5-40 x 5/16 Screw (one on each side)
Posts - Inside Helmet (three on each side)

Figure 22. SPH-5 Single Visor Assembly





